1,000 it B

50 535 415 X #% | susa30 0.5T _ (yv%0.4T)
N | | Al 1Rk HEIZSvia HS5—AF (K. 5E5)
o= — E 1R EEISvysa H5—81R (A
w0 4 ; ] A E IR EEISvyS s HS—&F (RE)
wl [ B 1R EEIS v KUSIE ()
= [ ] E EEZSvva KUAKRGHE HS5—AR (95
N | J S TSR | 1=90 h5—aiRCHFR)
- ( ] 3 HKEE | posEaABMIsmMmsE (S5 H8—X4)
: ] (40A BE7HA IR —CDRBLARETT)
< 1-T4Y" | w=385+D=230%H=240
= (L [ ] | T & DyAyF RS54 FTE
o] _ i = BiEs —XFmE
| 317.5 | 682. 5 |
1,000 525 25 525
| [ [
o o| ( ] oo ]
D | LD D
& O i [ |
o[ ! w| '[_ o
“= 2 Cle o L =
i [ 7 [ | ——— g J g
/’/ < - ] C
S e 2 3
0 E { . E | 205 co . co
AN - i
O r““"“"“"_ﬁ“ﬂ“ﬂ:" — O] e L o p—— 3
o o o
(=] (=2 D
4 345 i 345 4 295 4 b 540 1P 540

o F R FEREREE & S
—wHonA— k) 2 |4 V55-100L (%) 1:10




